Example Essays for Compensation Issues Final Exam
1. Please describe three common problems with pay for performance or incentive plans aimed at individual employees.

· What gets measured gets rewarded and some important dimensions of job performance may not be measurable.

· Performance levels are set too high or low.
· Things beyond employees’ control influence performance measures.

· Peer pressure to keep performance low limits ability of incentives to induce high performance levels.

2. Please describe the three major types of health care benefits and their similarities and differences.

Traditional health care insurance:

· Highest level of choice and flexibility available to employee, often highest cost.

Health Maintenance Organization:

· Focus on prevention and cost management, lowest level of choice available to employee, low continuity of care.

Preferred Provider Organizations:

· Between insurance and HMO in choices available to employee, uses network of health care providers who have negotiated favorable fixed rates for services in area.

3. Please describe what a compra-ratio is and why it is important in forecasting labor costs.
Compra-ratio is the ratio of average actual salary received by individuals within a single job to the mid-point of the salary range established for that job.  High compra-ratios (> 1.0) indicate most individuals are above the mid-point, low compra-ratios (< 1.0) suggest most are below the mid-point.  

High ratio suggests the following:

· Labor costs on a percentage basis cannot go much higher as most individuals are already paid above the mid-point of the range.  Wage compression may become an issue

· Either highly seasoned or high performing individuals are employed in this job OR leniency error in performance ratings may have resulted in higher pay raises than deserved.  In other words, either current employees in the job are truly higher performing individuals deserving of the pay in the higher end of the range OR there has been some sort of mistake or error in the way people moved through the pay ranges (causing the majority of folks to be above the mid-point of the range when they don’t deserve to be).
Low ratio suggests the following:

· Labor costs can increase a great deal depending on how merit pay, incentive pay, and other programs operate, i.e., there is room for pay increases within the pay range established for that job for most current employees.

· Either unseasoned or low performing individuals are employed in this job OR negative leniency error in performance ratings may have resulted in lower pay raises than deserved.  In other words, either current employees in the job are truly lower performing individuals deserving of pay in the lower end of the range OR there has been some sort of mistake or error in the way people moved through the pay ranges (causing the majority of folks to be below the mid-point of the range when they don’t deserve to be).
